) spradow

german engineering at your service

37

Sw 17

h4

Sw 17 ‘
g swm ‘
| | 2
@D .
G G 2D|
fig. 1 fig. 2 fig. 3
type DKO
test coupling with 24° taper adapter (DIN3865 / ISO8434-1)
type PN t;b; hi1 h2 h3 h4 SW1 SW2 G pZ'ﬁ)?]L?nl‘fboer
6 53 - 20 39 14 17 M12x1,5 1-708-00-10-600-CF
8 53 - 20 39 17 17 M14x1,5 1-708-02-10-600-CF
10 50 - 22 37 19 17 M16x1,5 1-708-04-10-600-CF
e 12 50 - 22 37 22 17 M18x1,5 1-708-06-10-600-CF
L 15 51 - 22 37 27 19 M22x1,5 1-708-09-00-600-CF
18 - 22 28 - 32 - M26x1,5 1-708-11-00-600-CF
2 - 22 30 - 36 - M30x2 1-708-13-00-600-CF
160 28 - 24 32 - 4 - M36x2 1-708-15-00-600-CF
35 - 27 42 - 50 - M45x2 1-708-17-00-600-CF
42 - 28 45 - 60 - M52x2 1-708-19-00-600-CF
6 54 - 20 39 17 17 M14x1,5 1-Z08-01-10-600-CF
8 51 - 20 39 19 17 M16x1,5 1-708-03-10-600-CF
630 10 51 - 22 37 22 17 M18x1,5 1-708-05-10-600-CF
12 51 - 22 37 24 17 M20x1,5 1-708-07-10-600-CF
S 14 - 24 22 37 27 - M22x1,5 1-708-08-00-600-CF
16 - 20 28 37 30 - M24x1,5 1-708-10-00-600-CF
400 20 - 25 30 - 36 - M30x2 1-708-12-00-600-CF
25 - 27 36 - 46 - M36x2 1-7Z08-14-00-600-CF
30 - 29 41 - 50 - M42x2 1-708-16-00-600-CF
315 38 - 32 48 - 60 - M52x2 1-708-18-00-600-CF

M16x2

fitting with test coupling
series M16x2

@D

fig. 4

type BE
test coupling for compression ring fittings

=
Q@

N NVMNNNMNNPFPFRPRPPFPPFPPFPNMNMNMNMNNMNMNNRERERRPRPREPR

type BE
part number

1-709-00-00-601-CF
1-709-02-00-601-CF
1-7209-04-00-601-CF
1-709-06-00-601-CF
1-709-09-00-601-CF
1-709-11-00-601-CF
1-709-13-00-601-CF
1-709-15-00-601-CF
1-7209-17-00-601-CF
1-709-19-00-601-CF
1-709-00-00-601-CF
1-709-02-00-601-CF
1-709-04-00-601-CF
1-709-06-00-601-CF
1-7209-08-00-601-CF
1-709-10-00-601-CF
1-709-12-00-601-CF
1-709-14-00-601-CF
1-709-16-00-601-CF
1-709-18-00-601-CF

For metal cap type A (universal) with vibration security
For metal cap type B (round) without vibration security
For metal cap type A (universal) without vibration security
For plastic cap type A (universal) with vibration security

L2

K

Design with sealings made of FKM

tube @D L1 L2 SW
8 20 37 22
10 20 37 22

replace 600 by 590
replace 600 by 020
replace 600 by 010
replace 600 by 100
replace 10 by 12
or replace 00 by 02

replace 601 by 591
replace 601 by 021
replace 601 by 011
replace 601 by 101

replace 00-601 by 02-601

fig.

ADA DD OOWWWWWDEDEDEDEDWW®WWW

90° fitting type BE with test coupling
series M16x2

h part number (NBR)
1-780-03-60-080-CF
1-780-05-60-120-CF

59
59

For metal cap type A (universal) with vibration security replace 60 by
For metal cap type B (round) without vibration security replace 60 by
For metal cap type A (universal) without vibration security replace 60 by
For plastic cap type A (universal) with vibration security replace 60 by

59
02
01
10

part number (FKM)
1-780-03-60-081-CF
1-780-05-60-121-CF

59
02
01
10

Other dimensions on request. We reserve the right to change the technical performance. All dimensions in mm.

page 4



